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Instructions :

*» The figures in the margin indicate full marks.

» Answer eight questions, selecting three each from
Section—I and Section—I1I, and two [rom Section—III.

* Candidates are required to give their answers in their
own words as far as practicable.

» All questions have been printed both in Hindi and
English. In case of any ambiguity in Hindi version,
the English version shall be considered authentic.

* Parts of the same question must be answered
together and must not be interposed between
answers to other questions.
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SEcTION—I
Wus—I
1,, What were the causes of the Revolt of 18577
" What effect did it have on Bihar?
1857 ¥ fEr & 7 % A7 faen # @ 9=
T 917

38

}, Describe the spread of Western Education in
: Bihar between 1858-1914, 38

1858-1914 % A faen 4§ yrear fosn & womn
w1 FuiA Ffsm)

3. Write a note on Swami Sahajanand and the

" Kisan Sabha Movement.
il gewa= 3 fFEE 8 s=ed W s feoged
fafam |

4. Explain the social and economic ideas of
Ram Manohar Lohia and Jayaprakash
Narayan. 38
M HAE Alfeqn s Sy AE % A 3
ifds faaa A =men $ifs)

\S/Discuss the features of Pala art and
architecture and its relationship with

Buddhism. 38

WA FA a4l WaA-FEn Fen $ AR #@ e
j';'sﬂwiﬁzuﬂ%mummm‘ﬁm
|
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6. Write short notes on any two of the
following : 19x2=38

(a) Dr Rajendra Prasad and the National
Movement

(b) Gandhiji's views on caste and religion

(c) The Dalit Movement in Bihar

frefafen & @ < 9t w wfiw foofimat fafan
(F) Sle Ta=z woR 3N WA F=reH

(@) = 3 od @ isfish & famm

(1) faer # =fom snrem

SECTION—I]
Q@vz—II

7. Discuss the pattern of global spread of
Covid-19 pandemic with reference to the
international migration and trade. 38

Faifa wEram s F g § fifyes)g
vl % affas gur & 0¥ ) waf A,

8. What are the variables of (he World
Happiness Report-2020? Give reasons why
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the Nordic countries are considered as the
top ranking countries in the world.

fava qreTedl RAe-2020 & fave Fa1 @7 FOT A
A EF 2 @ fava § wem-wim W @ A

Eicid

38

\%Bxamine the recent disasters like ‘Bushfire’
in Australia and ‘Amazon Burn'in Brazil with

their causes and impacts on local ecological
and global atmospheric conditions.

srfer ¥ ‘Sirehl sm (4% i @i+
‘mﬁmm’ﬁmfamsmmﬁaﬁw%mi 1
Wqﬂ@:ﬁﬁmaﬁﬁmfmmsﬁmm
afea wta Fifag)

.lp.prlain the socio-economic and ccological

implications of Covid—19 lockdown in India

with examples.

mﬂﬁﬁz-wam%aamm-anﬁham
et Rfedl € dee @ Hiad

38

11,“With ‘Mission Shakti’, India becomes the
fourth largest space power in the world.”
Discuss this statement.

;;Tﬂﬁn'%mmmaaawmw
8 T @1 T ) g@ HyA W =4l FEC

38
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SECTION—I11
@WUs—II1

12. Given below is a pie diagram of population
pertaining to the year 1998 and the table
pertaining to sex and literacy-wise
population ratio of different States of India.
Read these carefully and give answers to the
questions that follow :

Data of diffcrent States regarding
populauon of Statc«z in the year 1998

and Literacy-wise Population Ratio ,

e e e
e

Stlates - Sex 7 Literacy
| ;_M_a_lg-. Female Litq{ale . llhterate

AP | 5 . 3 | 2 | g7 |
owMP 3 1 a_
_Dehi 23 2 _.,ﬁL_:
" Goa 3 5 3 . 2

Bihar, © 8- - 3. 4 1 ]
I N N 3 ]
= _;K_ T e 4 9 | 4 |

Tolal population of the given States = 32,76 000
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(a) What will be the percentage of females
in UP, MP and Goa taken together of the

total population?

() What was the total number of illiterate
people in Bihar and UP?

(c) Find the ratio of the number of females
in Delhi and Tamil Nadu.

(d) What was the percentage of females

in all the mentioned States taken

together? 9+10+8+9=36

/ﬁﬂlg%imé;ﬁfwauaﬂﬁmmﬁm
gw aoh 3 fom o fen F wof § wEEn A
arit 919 A T R e e oA | AR s

% 411 Ry we F 3w A

7 1998 # fafvm =i @ Feen wfam
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fem i foan & woi d FwEm S

Vi) o ﬁrﬁml{uﬁrﬁm
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g e 3 1 | | 4 |
3 2 3 2 & |
T 3 5 3 2 |
faem 3 4 4 '1 1
I TN 3 2 7 | 2
AfeTg 3 4 9 4

fen m =i i g s = 32.;76.000-

(F) @ wem, 9w wam 3 e i e sinal
e #1 wfawd, T@ SaEen 1 fFan ame

(@) faem 3 3 w9 3 @ Al oM sETe 47

() fegi sin afverrg A fn AN wen = e
&1 7Y

() wft gt @ frar e @) wen & afe
CRIRRIE

13. The following chart shows the production of
cars in thousands for different companies
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in India. Read the multiple bar diagram and

answer the questions given below :

Production of cars for 2002-05 penod from
the selected manufacturers

5
2 O 2002-03
- B 2003-04
8 2004-05
15 | % -
10
5
1 :
0 - (= =S,
HM  Hyundid

—————

(@) Which companies have shown the
highest and the lowest percentdge
increase and deccrease in production
over last year? Also give the actual

percentages.
(b) What is the ratio of differences between

productions by Maruti and Honda
during 2003-04 and 2004-057

What are the ratios of total production
of cars during the successive years?

(c)

(d) In 2005-06, the production of cars by
Maruti and Hindustan Motors was
doubled, while for all other companics
_thc production remains the same. What
is the percentage increasc in overall
production? 8+10+10+8=36
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ﬁaggwmfﬁﬁmﬁﬁfﬁmﬁzﬁ

o o % @ (OW F) B W )
ammmmmm*mm;

of 2002 @ 2005 % A s & 7 W
Fmfmad #1 F F]1 IAMEA

|

[_25 0 2002-03
2003-04
20 1 ~ @ 200405

15 ¢

10

5 -

0

(%) e ot ¥ s § fwd @ A gen d
sifirgn 3 =pan wema A gl aw Bl g
87 anafes wfara ® Fga i Fif)

(@) wwdl #in @@ % 2003-04 3N 2004-05 ay
5 el F Al F) YR F0ORY

(m) e ] A F & FA IAEA F A R

(1) adzoos-oaﬁuwm@h%m Sieat IEARER
& 3 gF 8 SafE s wefa g
g sl W11 e I A feed wfma

# fe &
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14. Study the following graphs and answer the

questions given below :

Production (lakh bales)
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what was the percentage increase in
cotton production and productivity in
2006-07 as compared to 2005-06?

(a)

(b) In how many hectares, the colton was
grown in 200910 and 2010-11?

fc) In which year, the cotton production
has shown maximum percentage
decrease as compared to last year?

(d) In which year, the cotton has shown
maximum percentage increase in
productivity as compared to last year?

(e) In which year cotton cultivation area
was the lowest and how much
percentage of maximum area?

() Assuming cotton price as € 1,250 per
quintal, what would have been the
income of a farmer who had S hectares
of cotton area in 2008-09? 6x6=36
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(%) 2005-06 F T # 2006-07 # zm

oft?

(@) 2009-10 ¥ 2010-11 # feed 2w 3
Farg g T 47

(m) frm oad d fed o f o d T F g
Iqred § sfusan foma f w4 787

(@) fFe of 4 fga ad A qgen & F9w A
IqeFa § AftFan fawma & @gad g7

(3) frm of % wum ¥ 39 F1 &A% FAa9 91
an g sifuwan &ava 1 B afowa a7

(7) afe u@ =1 W@ € 1,250 ufd fe=at @, @ @&
5 R F9@ T fFem @ oam
2008-09 # # %7

15. Study the following line graph which gives
the number of students who joined and left
the school in the beginning of the year for six
years from 1996 to 2001. Initial strength of
the school in 1995 was 3000. Answer the
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questions based on the line graph given
below :

700
600
¢ 7
§ 500 P =
'g P ] D i . € y 4
Vi 400 o » rII
% #' 'A . = l
E 300 e
£ 200 b
=3 %
100
0 :
1996 1997 1998 1999 2000 2001
Years weseee Left
—&— Jowned

fa) The number of students studying in the
school in 1998 was what percent of

the number of students studying in the
school in 2001?

(b) Find the ratio of the least number of
students who joined the school to the
maximum number of students who left
the school in any of the years during the

given period.

() During which year, the percentage
increase in the strength of school was
minimum?

09/FE/CC/M-2019-02/24
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(d) What was the percent increase/
decrease in the number of students
from 1998 to 1999?

fe) Find the ratio of the maximum number
of students who joined the school to the
minimum number of students who left
in any of the years.

() In which year, the strength of the school
was maximum? 6x6=36

%ngammmmmﬁﬁqﬁaﬁ 1996 #
2001 ¥ F ¥y | fanea § 59 o5 i 919
faenfedai ) gen A w 21 1995 F wrw F fanfm
F1 ge 3000 41 @ o F osun w FEfataa

'f 700 2 ]

— +
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(F) 1998 # ey # gt @ fenfdat f we,
2001 # gt I faaiffEl 1 @20 1 frm

yferera 7

(@) & arafy F e f off = 7 A Hen
37 o T i sfteman e § faueE g
aret faenffal w1 srgmm 7 27

(n) fm =d ¥ e & el £ wen 4 s
3 =g i’

(1) 1998 ¥ 1999 § fgnfdai #i den & wavm
gfe/firae =1 A7

(z) feft oft o & wfiram den § yam o 9 N
Fan wE ¥ famen gie) 9@ i @
g9 4 27 -

(9) Fom 7§ Frarem § frafidl 9 den S
7
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